Oyzis:

-
— - O
RE £ THHE | BHBHE BRER FEEE %
. IP68 -40°C~+100°C
il =N 1) = . L, _ N
IS |RMEEEL) BAR | BRSS | THBR | @amomBmmRT) | sewim20c
@ 55 i, BN EERAIASIRK R,
A
i
[
i
1
o M
v =1
C 5 — s
MftE: S0
e
S 2 M A B ©
e BRI LS
M12 M12x1.5 @3~6.5 8 15
M16 M16x1.5 @4~8 8 19
M18 M18x1.5 @5~10 8 22
M20 M20x1.5 26~12 10 24
M22 M22x1.5 310~14 10 27
M25 M25x1.5 213~18 11 33
M27A M27%x1.5 @13~18 11 33
M30 M30x1.5 @13~18 11 33
M32 M32x1.5 @18~25 11 42
M36 M36x2.0 218~25 11 42
M40 M40x1.5 @22~32 13 52
ZIL03 M50 (B;Eig)) M50x%1.5 @32~38 15 60
M63 M63x1.5 @37~44 15 65
PG7 PG7 @3~6.5 8.5 15
PG9 PG9 4~8 8 19
PG11 PG11 @5~10 8.5 22
PG13.5 PG13.5 @6~12 10 24
PG16 PG16 210~14 10 27
PG21 PG21 313~18 11 33
PG29 PG29 218~25 11 46
PG36 PG36 @22~32 13 52
PG42 PG42 @30~38 14 60
PG48 PG48 @37~44 14 65
BE
@ - B | ssmE | e
R
EEETE O [wie | o)
ZILO3—M12—B
@A
’E | *E | HE | BhkER | BFER FREE
ZIL42 [ingiakich 266 UL94v-2 IP68 -40°C~+100°C
@ 55 BELRRSENARPEE, SRIPEETSINRZIER.
A B C D E F
s mp EAEK kBB EERI Ffsa L

= @

MEpiRE: E—0M

s e TR ERBL | ByME | BokE | BRAO |REIRFR
53 RS - ) == C1 C2 a% A/F
M12 @3~5.3
e M12x1.5 | Zmo s 12 8.5 12~12.3 | 18/19
M16 B4~7
ZIL42 e B(Ef) | M16x1.5 T 1 16 m 16~16.3 | 22/22
M20 M20x1.5 (@8~ 13 20 20~20.3 | 27/27
M25 M25x1.5 |@12~15.8 25 11.6 25~25.4 | 33/33

8.

ERETRTHE

Bs

T
U2 sme)

ZIL42—M12—B

T 8 Al e



	页 11

